Spring 2015 Math 109 Exam # 1 February 11, 2015

Directions:

e This is a two hour exam. Clearly print your name on the first page and the top of the third page
(second piece of paper). No books, notes, internet connection, or cell phone can be used during
this exam. Any scratch paper must be provided to you by the proctor and turned in with the
exam. A calculator maybe used; however, the calculator cannot have a Computer Algebra System
(CAS) or a QWERTY keyboard. When you have completed the exam:

1) Turn in the entire exam (including cover page, and any scratch papers) to the proctor
2) Show your ID to the proctor
3) Sign the “Sign Out Sheet”

e All answers must be fully filled in on the front page, like so:

L JOIOION0)

e The exam is out of 100 total points (5 points for each of the 20 questions). Only this front page
will be graded and no partial credit will be awarded. Consequently, please double check to make
sure that you have marked the answer you desire. Good Luck!
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Name (Print):

Section Number:
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Math 109 Exam # 1 February 11, 2015
Section Instructor Class Start Time | Exam Location
001 Drew Butcher MWF 8:00 AM BS 116
002 Drew Butcher | MWF 10:00 AM BS 107
003 Drew Butcher MWF 1:00 PM CB 118
004 Robert Wolf MWEF 9:00 AM CB 122
005 Robert Wolf MWF 11:00 AM CB 122
006 Tan Barnett TR 11:00 AM CB 114
007 Tan Barnett TR 12:30 PM CB 114
008 Devin Willmott TR 2:00 PM CB 110
009 Devin Willmott TR 3:30 PM CB 110
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Math 109 Exam # 1 February 11, 2015

1. (5 points) Determine the order of operations being applied to z in the expression

| D. Adding v2 |
E. None of the above

2. (5 points) Find the exact value of .y
—(3—\/5): -] (&\/?J
~ 7

A 3-15 = "3+Vs
| B.V5-3 | = Vs +(C3)
C. =35 = Vi -3

D. —0.7639

E. None of the above

3. (5 points) Which interval represents the number line below?

| ® = | = o
—1 0 1 2 3 4
A. (0,1] U3, 0] Lo, D U(B,oo)
B. (—00,0] U (1,3)
| € 10,1)U (3 ) y

D. [—00,0) U1, 3]
E. None of the above.
4. (5 points) Find the distance between 17 and —1.
A. 16
B. —16 M?*(flﬁ\:![jrﬂ\:\l%!:\%
C. —18

| D18 |

E. 17
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UK: “Go CATS” Name: Section:

m+3 (x/i + x2)
What is the 2°¢ operation? P fj
=N 2
A. Adding 7 | ; Juale X~ X
B. Squaring ?Q'O?LAJC] V= X% b x T VR =V + X2
. d
C. Multiplying by 3 39 M. lﬁip_lz 1335 VT4 3 (VT +X°2)

4 1JJ T 2 (VT +X) ~p RV ) +TE

= 77*4'3(\/5+qu
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Math 109 Exam # 1

February 11, 2015

1
5. (5 points) Consider the equation
Y

+1—1:1. Solve for y. LCD:&“
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A y= I~ —1=utl h -
m&ﬂ> n | :(Ij/ 41 — cckus o
/"> A — =
B. y:]_ U /L-S:ﬁ‘r[ | l?
[ — 1 -l =
C.y=0 >T+'LAIH _/i“D(I): DTN T A e gt |
D.y=-1 [-(}’_>1‘|)=_’$*| 7$:?L _Lfl:?l
B
E. There are no solutions. éz
- -1
T
6. (5 points) Find all real solutions to the equation (x — 2)* = 16. A= =1 Vv
A z=—/2and z =2 §
—Z= Vi¢
B.z=2—vV2andz=2++2 N \ Meote ﬁ/'»: “‘&7‘:141:92
lngoandx:é” TR=t
D. z = —+v/40 and = = v/40 X &
—2-2 P
E. None of the above 42 +2 < +'23 f%
X= ¢
s—1 1+s X=0
7. (5 points) Solve the equation = for s.
(G p ) q 7 D I_CD: TDC—}
_1l+gq
P79 pg |+s =t s-s
B Pt T 9r P
' 1—¢q ‘f?
p+q '75—5
R 3_ f) TPy
p—q P = dts)g
1 - =
D. S=ﬂ TDS_P—_Q_-\»Sﬁ GLQJ_S‘ m
- —sg s P OPe
E. No Solution 3
<= 13:
8. (5 points) Find all solutions to the equation 5z — 55 = 0. -9
Az =11 I
3 —
B. z=+/5and z = V11 Q =55
— —
C. z= Y11 ’
3
D. x =11 and z = —v/11 =
E. 2=+5
X =/
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Math 109 Exam # 1 February 11, 2015

9. (5 points) Which equation represents the statement, “the distance on the number line from x

to —8 is[@’?
[x—(-3)| =2
B. |z—2| =8
C.lz—8=2 | x+ F| =
D. |z+2/ =8
E. None of the above
I
10. (5 points) Find all solutions to the equation |6z — 3| = 6z. éh@Cl< =g
g —_ = I ? _I
A z=12 | Gx-31=Cx \@,q_ﬂ:g/q)
B.z=3 ¥ \,\ ‘_5__;‘ -1
C.z=6 Cx3-Cc  Cu-3--¢. 27717
; - Cx —Cx - Gx -Gx 3-¢| -2
D.x:z -3:-0 3= - (o, a g:
E. No solution exists /UOSO\'“*""V\ -2z - \_%l =3 l/

11. (5 points) Which of the following equations is e uivaﬁnt: é) 3x? —24x +7 =07
2 b ¥
A (o4 4)? = 431 (5 -Fx 160D + F=0 ( *C_{): £4q)* =
2
1 3 - - E
’ C(w—4)= 3) (x=%xs16)-47+7 =0 3(x-9) = 4l

B. (z—4) - Al
C. (z+4)2=71 3(X+D§j -4l =0 B >
D. (z+4)% =41 S = dl
X -4) =

E. (zr—4)?=41 BKXALO -41=0 ( ) S

40 14l

12. (5 points) Solve for y in 6y* + 3y = 1.
W 3EVIS o a= ¢
IRRET Gyt 3a-l=0 b3
B y=—+ <=l
LY = 1
—3+/33 -3tV g oo — —
WZT/ - [q(q(.): BIVE 29 -31y/33
34+4/33 2(c) [ S
D.y=—— [ &
12
g, _ 3EVI5
T
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16. (5 points) Find all real solutions to the equation

Al x=T7Tand x = -2 /X— —o?3)<

v sx-14 =0

Math 109 Exam # 1 February 11, 2015
_ a2
13. (5 points) Solve for z in the equation (2 83) =2. Z -3 *q9
A 5 5 & SN
. z2=3,z2=— B
3(%3}@?)8 € 3= 9 € -3=-9
B.z=2 - +3 +3 £3 43
C.z=3 /Z-S)—— z=7 Z=-
b Z:_l’ZZGI 2-3=2\ig
E. z=-1,2=7
E g-3214
14. (5 points) Find all real solutions to the equation
t o= x? ol
Jf —5CC —36=0 {L\QV\ L,L {X Mu f(&

So —xq
w - qu-3¢=0
Al z=3 u(mq\ QK(A#{) o b -9=0 of w+4=70
B.z=3and z = -3 7] 1949 -4 "
((A q)(u“{‘“f) @) NER=! L=y
Cr=2,z=-2xz=3andx= -3 XL:q Xz:ggl
D. x=2and x = -2 e No reel Soluts,r
E. None of the above -3
15. (5 points) Find all real solutions to the equation
= 18z
-6x —18x
S -1 x =
&sz,sz,andx:—3| x x =0 O? .
' XX =0 ) X-320 60 X43:20
B.z=0andxz=9 o?x(;(‘l Cﬂ _ SN 3 43 -3 -3
C.z=-3andx=3 =0
= X: - -
D.z=9 O?X/\(-B)/K+3):O . o3
E. None of the above

@23—3: r—3 ?@m”:@) Means bn:a

(heck

(::32@—3%0?3 ~x Ko 3 - l4eo  VURI-FEE-3I
. = —2 “ox+9Q = - —
v 23 x6exdAlbezo Vg = g

D. There are no real solutions 2 ¢

E. None of the abovex G-l = -x "M G Checlk ol e

: +x +x SR XK= - olte
X-F=0 X420 - - "
A e V23-(a) < -5
=7 K=-2
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Math 109 Exam # 1 February 11, 2015

17. (5 points) Choose the coordinate located on the line 42 4+ 3y — 2 =0

A. (2 3> Y(*3( —) Q=T -10- = ~2-a=-9F0

~10
5 (372)‘*/“—?>+5@-2-—‘“‘—f+%-%=-‘*°+'*-
C. (2,-2)4(Q)+3(--2=F-6-2=-R2-2=0
D. (-2,2) 4(-2+3(J-2= ~F+6-2= -2_5--9+0

E. None of the points are on the line.

18. (5 points) Find the center and radius of the circle defined by the equation 22 +4x+y>—12 =0

A. The center is at (2,0) with r = 4. &z\‘ ‘|'><+Ll)+ g% = iaq <i>a=,gl_.q
B. The center is at (—2,0) with r = 16. é( . ‘i)i - 2
@The center is at (—2,0) with r = 4. 2T
D. The center is at (0, —2) with r = 4. 6(+°?) w16 Centee=(in k)= (-2,0)
E. The center is at (—2, —2) with » = 16. /f: (h’)?)) *((3(3) 9% redis ==
+(O-K) =r*

19. (5 points) Find the y-intercept of the line passing through the points (1,1) and (4, 3).

A 1 le%\ X2 Y2
3 pre:mt S A el -1
32

2 Xz =X, oS-
B. 3
2
o 1 Sl )
. TR
D = <+ + g’;\'\%rmpf

@/

E. None of the above 5 - =2 @
= 4L
2 S

20. (5 points) Which of the following lines is perpendicular to the line passing through the points
(0,3) and (4,0)?

X 9 Xz %2
Ay:ix—?) S]OPE—:\(\(\j Aziﬁizofg ) gj
X4 =X _ -
3 TN
4 16 | R
C.y=—3 = —
333 3 m= "3
E. None of the above
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